Summer Sun Shawl

lace edge. Using the Zauber Flower gives a playful dimension to the work: §

the changing colors make you look forward to seeing it grow! The beads,

inserted with a hook, will catch the light and make this very simple ’
Summer Sun an elegant accessory for all occasions. This pattern includes 8
detailed written explanations for all the rows and a diagram of the lace
edge to be found at the end of the explanations.

Materiall :
1 ball of Zauber Flower Schoppel Wolle ( €00m/1509). You can find your| ‘\v
kit on this page!!! -
600 translucent and colorless glass beads (or beads matching the chosen color), 1 fine hook to insert the beads
(O.75mm or S5mm).

Needles 3,5mm. 2 stitch markers. Scissors, yarn or tapestry needle, blocking material.

Abbreviations :

M : stitch marker

st : stitch

sl: slip stitch: position your yarn as if to purl, slip the stitch from your left needle to your right needle. Continue
knitting as directed.

p : purl

k : knit

ml: interlayer increase,see there_http://www.tricotepastout.com/archives/2013/02/09/26371255.html

SKP : Slip, Knit , Pass over : slip one stitch right side, knit the next. Fold the slipped stitch over the knitted
stitch.

Yo : Yarn Over

K2tog :knit 2 stitches together

R : row

* ... % knit the pattern between * and * until the end of the row or as indicated below.

Imsert{ng beads have a look here!!: http://www.tricotepastout.com/archives/2012/08/25/24964342.html

Points :
Stocking stitch :

knit on right side rows , purl on wrong side rows.

Seed stitch on an odd number of stitches:
Right side row : *k1, p1* finish the row with k1.
Wrong side row :*k1, p1* finish the row with k1. Repeat these 2 rows.

Seed stitch on an even number of stitches:

Right side row : *k1, p1*

Wrong side row :*k1, p1*.Repeat these 2 rows.

Gauge needles 3,5mm, 10cm/10cm : 24stitches/34 rows
Size of finished and blocked work : 36cm/230cm.
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Work

Increase section:
Cast on 24 stitches.
Knit 4 rows in seed stitch (Seed stitch on an even number of stitches) by setting up your stitch

markers in the first row knitted as follows:
knit 7 sts , put a stitch marker, knit 10 sts , put a stitch marker, knit 7 sts.

The stitches indicated in red are those of the lace edge, their number is variable according to

the rows. Here is the detail of the number of stitches of the lace edge for each right side row of

the pattern:
Row n° 1 3 5 7 q 11 13 15
sts 8 q 10 11 12 13 14 15

The stitches indicated in purple are those of the edge in seed stitch (see the seed stitch on an
odd number of stitches). Their number is 7 and does not change.

The stitches indicated in black are knitted in stocking stitch, their number changes in the
increase and decrease sections.

The color allows you to identify yourself in the different sections of your row, whether right or
wrong side.

Concerning the control of the number of your stitches: The number of stitches changes at each

right side row because the lace edge has a number of stitches which changes each time, but you
will have marks: in the increase section, you increase your total number of 4 stitches every 16
rows so, at the end of each pattern you will have:

pattern n® 1 2 3 4 5 6 7 8 9 10 11
stitches 28 32 36 40 44 48 52 56 60 64 63

In the straight section, in rows 1 and 16, you will have &8 stitches.
In the decrease section, you will have 4 less stitches on row 16, at the end of each section:
patternn® 1 2 3 4 s 6 7 8 q 10 11

stitches 64 60 56 52 48 44 40 36 32 28 24

Inserting the beads: they are inserted with a hook in the lace edge, on the wrong side rows.

When the yarn from the Yo of the previous row appears, insert the bead on it and continue
knitting.

Then start the pattern :
R1(right side row):7st in seed stitch, M, knit until the stitch marker and before the marker
make : m1, M, k3, Yo, SKP, Yo, k2.




R2(wrong side row):1sl, ps, k2, M, purl sts between the 2 markers, M, 7st in seed stitch.
R3:7st in seed stitch, M, knit sts between the 2 markers, M, k4, Yo, SKP, Yo, k2.

R4:1sl,p6, k2,M,purl sts between the 2 markers,M, 7st in seed stitch.

RS :7st in seed stitch, M, knit until the stitch marker and before the marker make: m1, M, ks,
Yo,SKP, Yo, k2.

R&:1sl,p7, k2,M,purl sts between the 2 markers,M,7st in seed stitch .

R7:7st in seed stitch, M, knit sts between the 2 markers, M, ke, Yo, SKP, Yo, k2.

R8:1sl, p8, k2,M,purl sts between the 2 markers,M, 7st in seed stitch.

Ra:7st in seed stitch ,M.knit until the stitch marker and before the marker make: m1, M k7,
Yo, SKP,Yo, k2.

R10:1sl,pa, k2,M,purl sts between the 2 markers,M,7st in seed stitch .

R11:7st in seed stitch, M, knit sts between the 2 markers, M,k8,Yo, SKP, Yo, k2.

R12:1sl, p10, k2, M, purl sts between the 2 markers, M,7st in seed stitch.

R13:7st in seed stitch,M, knit until the stitch marker and before the marker

make :m1,M,ka,Yo, SKP,Yo, k2.

R14:1sl, p11,k2,M, purl sts between the 2 markers,M,7st in seed stitch .

R15:7st in seed stitch, M, knit sts between the 2 markers, M,k10,Yo, SKP, Yo, k2.

R16 : Bind off 8sts by purling them, p4, k2, M,purl sts between the 2 markers, M, 7st in seed
stitch.

Reproduce this pattern 11 times and go to the straight part of the shawl.

Straight part:

R1(right side row):7st in seed stitch, M. knit sts between the 2 markers, M, k3, Yo, SKP, Yo, k2.
R2(wrong side row):1sl, ps, k2, M, purl sts between the 2 markers, M, 7st in seed stitch.
R3:7st in seed stitch, M, knit sts between the 2 markers, M, k4, Yo, SKP, Yo, k2.

R4:1sl,p6, k2,M,purl sts between the 2 markers,M, 7st in seed stitch.

RS :7st in seed stitch, M,knit sts between the 2 markers, M, k5, Yo,SKP, Yo, k2.

Ré:1sl,p7, k2,M,purl sts between the 2 markers,M,7st in seed stitch .

R7:7st in seed stitch, M, knit sts between the 2 markers, M, ke, Yo, SKP, Yo, k2.

R8:1sl, pg, k2,M,purl sts between the 2 markers,M, 7st in seed stitch.

RAa:7st in seed stitch ,M.knit sts between the 2 markers, M,k7, Yo, SKP,Yo, k2.

R10:1sl,pa, k2,M,purl sts between the 2 markers,M,7st in seed stitch .

R11:7st in seed stitch, M, knit sts between the 2 markers, M,k8,Yo, SKP, Yo, k2.

R12:1sl, p10, k2, M, purl sts between the 2 markers, M,7st in seed stitch.

R13:7st in seed stitch,M knit sts between the 2 markers,M,ka,Yo, SKP,Yo, k2.

R14:1sl, p11,k2,M, purl sts between the 2 markers,M,7st in seed stitch .

R15:7st in seed stitch, M, knit sts between the 2 markers, M,k10,Yo, SKP, Yo, k2.

R16 : Bind off 8sts by purling them, p4, k2, M,purl sts between the 2 markers, M, 7st in seed
stitch.

Reproduce this pattern 16 times and go to the decrease part of the shawl.




Decrease part:

R1(right side row):7st in seed stitch, M.knit up to 2 stitches before the stitch marker and make
K2tog, M, k3, Yo, SKP.,Yo, k2.

R2(wrong side row):1sl, ps, k2, M, purl sts between the 2 markers, M, 7st in seed stitch.
R3:7st in seed stitch, M, knit sts between the 2 markers, M, k4, Yo, SKP, Yo, k2.

R4:1sl,pe, k2,M,purl sts between the 2 markers,M, 7st in seed stitch.

RS :7st in seed stitch, M,knit up to 2 stitches before the stitch marker and make K2tog, M, ks,
Yo,SKP, Yo, k2.

R6:1sl,p7, k2,M,purl sts between the 2 markers,M,7st in seed stitch .

R7:7st in seed stitch, M, knit sts between the 2 markers, M, ké, Yo, SKP, Yo, k2.

R8:1sl, pg, k2,M,purl sts between the 2 markers,M, 7st in seed stitch.

Ra:7st in seed stitch ,M.knit up to 2 stitches before the stitch marker and make K2tog, M,k7,
Yo, SKP,Yo, k2.

R10:1sl,pa, k2,M,purl sts between the 2 markers,M,7st in seed stitch .

R11:7st in seed stitch, M, knit sts between the 2 markers, M,k8,Yo, SKP, Yo, k2.

R12:1sl, p10, k2, M, purl sts between the 2 markers, M,7st in seed stitch.

R13:7st in seed stitch,M.knit up to 2 stitches before the stitch marker and make
K2tog,M,ka,Yo, SKP,Yo, k2.

R14:1sl, p11,k2,M, purl sts between the 2 markers,M,7st in seed stitch .

R15:7st in seed stitch, M, knit sts between the 2 markers, M,k10,Yo, SKP, Yo, k2.

R16 : Bind off 8sts by purling them, p4, k2, M,purl sts between the 2 markers, M, 7st in seed
stitch.

Reproduce this pattern 11 times .

After the 16th row of the last pattern: make 4 rows of seed stitch (knitted seed stitch on an
even number of stitches) with the remaining 24 stitches and then bind off all stitches by

knitting them. Bring in the threads, wash and block your shawl, and then cut the threads
short. Wear ... offer ... make another!

Diagram of the lace edge:
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